
1) Decrease 20 by 90%

Answer: ____________

2) (-48) ÷ 12

Answer: ____________

3) (-48) ÷ 12

Answer: ____________

4) Factorise f2 + 6f + 8

Answer: ____________

5) (9 x 108) / (4 x 81)

Answer: ____________

6) 12 ÷ 2

Answer: ____________

7) 12 ÷ 2

Answer: ____________

8) Find perimeter of 
triangle s = 29 cm

Answer: ____________

9)
20

Volume of Cone 
14

Answer: ____________

10) An amount was decreased by 8.1% to 
$421.00. Find the original amount.

Answer: ____________

11) Find area of 
rectangle having 
sides a = 98 ft 
and b = 95 ft

Answer: ____________

12) 40 x 38

Answer: ____________

13) 'What is the probability of rolling a 
number less than 2.when rolling a 
dice

Answer: ____________

14) 'What is the probability of rolling a 
number less than 2.when rolling a 
dice

Answer: ____________

15) 47.3 + 27.4

Answer: ____________
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16) Find area of 
rectangle having 
sides a = 71 cm 
and b = 70 cm

Answer: ____________

17) Decrease 20 by 25%

Answer: ____________

18) (9 x 42) + (7 x 29)

Answer: ____________

19) Find the range of the following set of data:

0, 3, 0.9, 0.3, 5, 0.7, 7

Answer: ____________

20) Find perimeter of 
square having each 
side (s) equals 74 m

Answer: ____________

Total: ___ / 20

Copyright 2023 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

September 14, 2023

Sr: 14092023-3199

 

http://www.geekschool.co.uk


Answers:

1) 2 2) -4 3) -4 4) (f + 2)(f + 4) 5) 28125000 6) 6 7) 6

8) 87cm 9) 4105.0144006907 10) $386.90 11) 9310ft 12) 1520 13) 1/6 14) 1/6

15) 74.7 16) 4970cm 17) 15 18) 3728 19) 7 20) 296m
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